INTERMEDIATE EXAMINATION - 2021 (ANNUAL) 119

Model Set

Time :- 3 Hours 15 minutes Full Mark - 70
Y : 3 He 15 e BIOLOGY (sfia fasir) o — 70

Total No. of questions—70+ 20 + 6 =96
B T DI HIT — 70 + 20 + 6 = 96

ghenrfelalt & forv [Ador —

Instructions for the candidates :-

1. qerreft JUTEYd U vreal H B STR T |

Candidates are required to give answers in their own words as
far as practicable.
2. <R ek TR W RY gy sie wie Ffde axd §
Figures in the right hand margin indicate full marks.
3. IR <d G el I Teq—AH1 BT &I R |
While answering the questions, candidate should adhere to the

word limit as far as practicable.

4. 9 U UF P SFYED Y & oy 15 fAe &1 sifaRed w#a faan
TAT B |
15 minutes of extra time has been allotted for the candidates to
read the questions carefully.

5, IJg YII—UF &I WUS| H B, WUs—3 Ug HUus—d |



This question paper has two sections: Section-A and Section-B.
Gus—3 H 70 TGS YA &, H 9 fbgl 35 Ul P TR oAl
ffrard €1 35 YAl ¥ ffe/d el & SR o WX UUH 35 Ul DI &
ARG a1 S| IS U= & forg 1 3 iR & | g9 ST
a1 & fol UG BRI T OMR—STR U3 4 3 T 92 g &l

FTA /Al dfd U9 9 W A fl IR B @R /TR

geTel /&l /ARYA AT Bl IR GRADBT H YAWT BRAT J1 B, A=A
oI YR ST BT |

In Section-A, there are 70 objective type questions, out of which
any 35 questions are to be answered. If more than 35 questions
are answered, then only first 35 will be evaluated. Each question
carries 1 mark. Darken the circle with blue/black ball pen against
the correct option on OMR-Answer Sheet provided to you. Do not
use Whitener/Liquid/Blade/Nail etc. on OMR Answer Sheet,

otherwise the result will be invalid.

Yue—q H 20 TSI U T | UAP U @ U 2 3 MeiRa 2|

T8 9 fbel 10 U9l & SR o7 Afard 8 | 39 SifaRad 59 Wvs
H 06 oI IR yed Y fau v 2| e U & forv 05 3 fHeiRd
21 RE 9 frg 3 goi & SN <7 ifard 21

In Section-B, there are 20 Short answer type questions. Each
carrying 2 marks, out of which any 10 questions are to be

answered. Apart from this, there are 6 Long answer type
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questions, each question carries 5 marks, out of which any 3
questions are to be answered.

8. Pl dRE & Soldgii-ih IYDRY B SKIATA goiadr afoid = |

Use of any electronic appliances is strictly prohibited.

HYus—3 / Section —-A

(axqfss U¥) / Objective Type Questions

U W1 1 H 70 IF AP U B A1 IR fdbey Ry v €, Rred 9

TP HEl © | 30 gRT g ¢ ¥l fFey & OMR IStR—u3a R fafed o |

frgl 35 Ul BT SN < | 35x1 =235

Question Nos.- 1 to 70 have four options, out of which only one is
correct. You have to mark your selected option, on the OMR Sheet. Answer

any 35 questions. 35x1 =35

1 TR & GehMHSIA Bl T e g ?
A. ITdRTEa: Afha grar 2| B. STRAA BT B |
C. amgalrmd: ffpa g 2| D. g9 B @ C

What is the importance of Euchromatin of chromosome ?

A. Genetically active B. Neutral
C. Genetically inactive D. BothBand C

2, 59 PRee I SgH feaa fov fovara g ?
A. xTSAT B. 3}



C. 919 D. pra—9&%

Jim Corbett National Park is famous for -

A. Rhino B. Lion

C. Tiger D. Black-buck

g YR (Fa) oifed) =ifed § & fbd gear & SR 8l 8§ 2

A. fafrma B. &TSUSH

C. gHgTaSIdn D. fawageestar
Hybrid Vigour is due to which event in the following ?
A. Crossing over B. Chiasma

C. Homozygosity D. Heterozygosity

HI T Rl T fifd § 9 & 7 ?
A. 3iaT B. fo=r
C. difhad D. ufowrsd

Which of the following is the vestigial organ of human ?

A. Thumb B. Pinna

C. Coccyx D. Pelvic

[aN o

IR 3TURT f=ifehd & & foa® Uy Srar g 2

A I9TH B. 799
C. grsr D. 9% 9 941 #



Haemochorial placenta is found in which of the following ?

A. Rabbit B. Human being

C. Horse D. All of these

BIF AT WETUEHAT I8 B 78 F AR T2l 8Iar & 7
A. Ty B. foreret!
C. wefl D. =HIEs

Which pollinator is not attracted by scent of a flower ?

A. Moth B. Butterfly

C. Bird D. Bat

A H AETHS A& BT Udh QTR DI AT & ?
A. 3@l &1 3T B. <= &7 T
C. 91l &l 97 D. AT &l 3MHR

An example of the quantitative trait in man is -

A. Colour of eye B. Skin colour

c. Hair colour D. Shape of nose

I8 HRE /Toic ST AR UGl HRal 8, S0 R Hed © 7
A. HRAEMET B. i
C. 3ff~proi D. AR

The agent that tends to produce cancer is called as -



A. Carcinoma B. Carcinogen

C. Oncogene D. Metastasis

Ifdedh el fhaw UHR & B & ?
A 1 B. 2
C.3 D. 4

How many types of nucleic acid are there ?

A 1 B. 2
C.3 D. 4

g qIRAS H Ugal ¢ifthds R BT © 2
A. TeIfie STTedh B. fgdly Sdes
C. urfie U D. fgdha Suwraar

The first trophic level in an ecosystem consists of

A. Primary producers B. Secondary producers

C. Primary consumers D. Secondary consumers

PIRTHT SN BT A I Sff Gihd 89 TR DAY BT BRI 99 Fhd
g ?
A. JT=pIoi=g B. Urei—3if~hioi=4

C. THi Adr B D. 9gaT S 4



12.

13.

14.

Name the cellular genes which when activated can cause

cancer?
A. Oncogenes B. Proto-oncogenes
C.BothAand B D. Silent genes

S T fhd! AGG W SIF Bl DIRTGRI H Jde BRI Ahdl © ?
A. IS B. ®ifsae

C. wraiHsd D. g1 &3

Gene gun can introduce genes into cells with the help of -

A. Plasmids B. Cosmids

C. Phagemids D. Microscopic pellets

AR FUTART Feld? HIR T & ?

A. 919t B. Ut
C. 3T D. THIeR

Flavr Savr is a genetically modified -

A. Rice B. Cotton
C. Potato D. Tomato

A &1 dien iR frerifea & 9 s srguRerda & ?
A T B. & %erdl

C. D. drard



15.

16.

17.

The upright pyramid of number is absent in which of the

following?
A. Forest B. Grassland
C. Lake D. Pond

aRds # T gA-dIaer 78 8lar § 7
A. 3T B. ATSCIoH
C. S D. 3ol

Which is not recycled in ecosystem?

A. Oxygen B. Nitrogen
C. Water D. Energy

TepTY] ST WaeT= =181 &Il 9 Y Pel fauiivd 8id 8 ?
A. gUITDIY B. a9 SHVd

C. gsharss D. gSldheie™] Tetl

Spermatozoa which are not ejaculated are reabsorbed in the -

A. Scrotum B. Vas efferens
C. Vasdeferens D. Ejaculatory duct
Farel Sad fod fofig o=vd & §99d € ?

A. TaeTIeH B. Hiarsd



18.

19.

20.

C. vs—Hrared D. TereH

Connective tissues are derived from which embryonic layer ?

A. Ectoderm B. Mesoderm

C. Endo-mesoderm D. Endoderm

X—TOR{E 4T BT § ?

A wafe® B. thife®
C. Acrife® D. draNfe®
X-chromosome is -

A. Acentric B. Acrocentric
C. Metacentric D. Telocentric

vy fEfoRad & 9 feger am 8 ?

A. AT OREE B. foffT oRgA
C. oA WR Gl D. ®IsCidR

Allosomes are the name of which among the following ?

A. Autosomes B. Sex chromosomes

C. Swelling on the chromosome D. Kinetochore

voer) feifed ¥ 9 foad urm siar g ?
A. ©rTEIfeTT B. wRar
C. wiarpl? D. &7g%7



21.

22.

23.

Endogamy is found in which of the following ?

A. Plasmodium B. Planaria

C. Taenia D. Hydra

e fAifbd d W gy o ordr © ?
A 79 B. 9}
C. T D. 399 & 9 o

Oestrus cycle occurs in which of the following ?
A. Man B. Monkey
C. Cow D. All of these

RURIHR T S dal Rerd 8 7
A. ORI B. IToiRerd
C. SR Ua9r D. 581 Ua

Ranthambore National park is located in -

A. Gujarat B. Rajasthan

C. Uttar Pradesh D. Madhya Pradesh

o8 O @rfie diygr b a1 g ?

A. RIFIrar fewawerv B. FIVHIYRIT GIchFINGT

C. Wig7ISI7 SFTgorl D. F9frg @i

Which one is an endemic plant ?
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24,

25.

26.

A. Riccia discolor B. Marchantia polymorpha
C. Cynodon dactylon D. Nepenthes khasiana

S FAMT § Hagd & w9 4 Ugad 91ed OIS SITAT T & 7
A. SIEaEH B. g¢iH

C. @S D. T
Extrachromosomal DNA used as vector in gene cloning is -

A. Transposon B. Intron

C. Plasmid D. Exon

Ti—wenfore f=feRad # & foad BIRGRI B HrTHfcdd &HRdl 8?
A. Sfaro] &1 B. fauroy o1

C. el &1 D. Sigatl &1

Ti-plasmid transforms cells of which of the following ?

A. Bacteria B. Virus

C. Plants D. Animals

OfciSt sfRger srfwfear s Suarf 2 ?

A U HIAYT ¥ B. 3MIAT 3% GIAWT |

C. STV FIATT H D. S v9 T yaeidq #
Polymerase chain reaction is useful in -

A. Protein synthesis B. Amino acid synthesis

11



27.

28.

29.

C. DNA synthesis D. DNA amplification

HHEICT @ clged TAT IR & DIC RIT § 2
A. FHSITT 3T B. 3raerdl T
C. IS 3T D. SFi A 9B

Tendrils of Cucurbita and thorns of Bougainvillea are -

A. Homologous organs B. Vestigial organs

C. Analogous organs D. Both Aand B

SR & fh=g w7 <9 & ?

A. Urfdd == B. WHMIGR fama

C. argwudr D. argeell fafdvor
Darwin’s finches show -

A. Natural selection B. Parallel evolution

C. Homology D. Adaptive radiation

anferareRed, Siiareq uell foas g &1 aoid bel 2 2

A. SR AT |G a1 B. wgy qorm vell a7t
C. SWIR JoT ye a3t D. I I SYIAR i

Archaeopteryx, fossil bird is connecting link between -

A. Amphibians and Reptiles B. Reptiles and Birds

C. Amphibians and Birds D. Fishes and Amphibians

12



30.

31.

32.

33.

Teh fgdepr Rerfc &= 41 8 2

A. Ttrr

C. TtRr

A dihybrid condition is -

A. Ttrr

C. TtRr

B. ttRr

D. ttrr

B. ttRr

D. ttrr

9 & faf~1 wul BT &1 BeT AT © ?

A D S

C. 4Rd S

B. fawHg=st
D. gfdeetd

Different forms of a gene are called -

A. Complementary genes

C. Supplementary genes

cUcel BIRIHT FaT S 8 2
A. A Ao

C. TSHIZCIRE faqre
Tapetal cells show -

A. Mitotic division

C. Endomitosis division

YUY fhad g7t © ?

13

B. Heterozygotes

D. Allele

B. sfe¥gal faure

D. USHIgCIR ToIT g8 fordT

B. Meiotic division

D. Endomitosis and polyploidy



34.

35.

A. THETS] B. Jd TSI
C. ARl JHDIgH D. ArGT gD

Embryo sac is formed by -

A. Magaspore B. Megasporangium
C. Female gametophyte D. Female gamete

IYTIIROT R TF U R 399 I T UR-IT o1l © 2
A. IR9HC B. ufdd &e
C. 999 &e D. faREN @e

Which one is present on transfer RNA ?

A. Initiation codon B. Degenerate codon
C. Termination codon D. Anti codon
R erafpuest @ 8 ?

A. 3R U9 T R € U9 U UieiiiRel UolTsH

B. $I T U AR 1 U9 T U™l TolgH

C. 3R U9 U fiR 3R U9 U UfeiiRel TolisH
D. € U9 T 1R R T U dieimRel USirsH
Reverse transcriptase is -

A. RNA dependent DNA polymerase enzyme

B. DNA dependent DNA polymerase enzyme

14



36.

37.

38.

C. RNA dependent RNA polymerase enzyme

D. DNA dependent RNA polymerase enzyme

JATURTE BT TP S Sl AUIR WS 91T 8, S9 RIT HaT Sl 872
A. 3TReR B. UHIex SIF
C. \eleR S| DENCEIREANIC]

A gene of operon which forms the repressor protein is called ?
A. Operator gene B. Promoter gene

C. Regulator gene D. Structural gene

o g1 S Ay o yaifad &ear g 2

A. SIS B Bfesal Bl B. Wfod AUl &l
C. sfeod Aqul¥ral &r D. g9 B d2rm C

Toxin produced by tetanus affects -

A. Jaw bones B. Voluntary muscles
C. Involuntary muscles D.BothBand C
vew oy # @7 wEar © ?

A. Th GHSforll 3R T3 T B. fgmsfort ok w7 ¢
C. T psferHl € T U D. fggsferit St g7 U

AIDS virus possesses

A. Single strand RNA B. Double strand RNA

15



39.

40.

41.

C. Single strand DNA D. Double strand DNA
dqre. B Aad s HRT Bl 7 ?

A. BB B. feweri=

C. P D. sl

Addiction to tobacco is caused by -
A. Caffeine B. Histamine

C. Cocaine D. Nicotine

NG| BT ¥ UHR & UGHIT BT TS+ el © 7
A. arg ggul B. afzwia
C. Sig =il ggusd D. 39 f =i ugued

Domestic waste constitutes which type of pollution ?
A. Air pollution B. Effluents

C. Biodegradable pollution D. Non biodegradable pollution

fr=ifrd & @19 STa UgWYT BT AR Hdhdd g © 7
A. Frcvr faaRar B. § @ich

C. WiordI7erT cIg®! D. vesrHisr faveifciicadr

Common indicator organism of water pollution in the following is -
A. Cholera vibrio B. Escherichia coli

C. Salmonella typhi D. Entamoeba histolytica

16



42.

43.

44.

45.

dr= S FIT T ?
A. ST B. waell
C. STelig velt D. |qa! 9ren

Bombay Duck is -
A. Prawn B. Fish

C. Aquatic bird D. Marine snail
AT ¥ UER W, 9 a1 Ui §9H o fhaa) fee 7 ?

A. =mad B. g
C. ourd D. #enT

Shakti, Rattan and Protina are lysine rich varieties of which of the

following ?
A. Rice B. Wheat
C. Cotton D. Maize

de1 T 9 fhad g giar & ?

A. T TSSO B. TRal PrE S8 MaAsS
C. % D. 395 ¥ @18 &l

Bull's semen is stored in ?
A. Liquid Nitrogen B. Liquid Carbon-dioxide

C. lce D. None of these

IH B G H b9 A1 Y BT g ¢
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46.

47.

A. fa¥d=
C. B1arsd

Protein in silk thread is -
A. Keratin

C. Fibroin
ST SIRMEN Far J1fdd &Rl € ?

A. SRR
C. eI

Leydig cells secrete -
A. Testosterone

C. Oestrogens

D. gFI B g21 C

B. Albumin

D.BothBand C

B. Progesterone

D. Corticosterone

TG RIS fFrEifea § 9 fa J9ee &1 99 gar ' 7

A. TZIoE dT gfg M
C. TEINH Tl SXERCIT

Oral contraceptive is composed of which of the following

combination ?

A. Estrogen and growth hormone

B. Progesterone and testosterone

C. Estrogen and testosterone

18
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48.

49.

50.

D. Estrogen and progesterone

S U9 U 9fdeRer & SR oA s &1 Hior 9 B @ ?

A. TRITAR /Fdd B. argdd
C. BIc Wvsl H D. a9 B @@ C

Lagging strand during DNA replication is formed -

A. Continuously B. Discontinuously

C. In short segments D.BothB and C

BH—fIweuT ISURad— &g gidr & ?

A. 59 99 &7 faeu= a1 e giar 2 |
B. 519 99 &7 a9 8Iam 2 |
C. 59 99 &I faaiu= 8rdr 2 |

D. 319 ®iA%e el 2 |

Frameshift mutation occurs when -

A. Base is deleted or added B. Base is added

C. Base is deleted D. Phosphate is added
a9 RGBT fhad gRT y=difad & T8 ?

A. foad B. foR=af

C. gfdl D. =TT

Wobble hypothesis was proposed by -

A. Crick B. Nirenberg

19



51.

52.

53.

54.

C. Holley D. Khorana

RBC & Ud+d &1 BRI &I & ?
A. it AfiTs B. ESSIdETH
C. ™iferar D. IR IifiTe

Which one cause degradation of RBC ?
A. Arsenic compounds B. Hydrocarbons

C. Ammonia D. Sulphur compounds

S gped e a9ar 2 ?
A. &Tslserr | B. STetdHT &
C. i D. wiwe® ared |

Water blooms are formed by -
A. Hydrilla B. Water hyacinth

C. Trapa D. Planktonic algae
et @1 frmior fhe ufthar | gar g ?

A. T B. 3uery
C. HaToi D. g4l B @ C

Formation of soil takes place by the process of -
A. Melting B. Weathering

C. Pedogenesis D. BothBand C
SRS & U faervar w2 ?

20



55.

56.

57.

A. ORd 8T TRl B. THAGBISH

C.Sd 80U W D. 3ret! g 9 fadfiad wargH

A characteristic feature of hydrophytes is -

A. Floating leaves B. Aerenchyma

C. Submerged leaves D. Well developed phloem
The B! RGNS fmad w&d € ?

A. TRHISHRIST § B. VAM #

C. USHIghNISST # D. 9% 9 &g A

Fungal hyphae remain intercellular in -

A. Ectomycorrhiza B. VAM

C. Endomycorrhiza D. None of these
feTarerdY S| ST 8197 UTey g9iar § ?

A. fafe=1 SiFUeY B. faf¥=1 erorurey

C. U SiIFUT™Y D. Th I&IoTU=™Yg

Pleiotropic gene shows which type of phenotype ?

A. Multiple genotype B. Multiple phenotype
C. Single genotype D. Single phenotype
fFe=ifha # <1 SfFl & forg fawmygwsl Sitg &ar sim 2

A. RRYY B. RrYY

C. RRYy D. RrYy
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58.

59.

60.

Heterozygous organism for two genes in the following shall be ?
A. RRYY B.RrYY

C. RRYy D. RrYy
=1 % 4 DI |1 IRA BT I el g g © ?
A. 73T Sifowd B. iifed e
C. =Rarg =rer D. & &

Which one is the National aquatic animal of India ?
A. River Dolphin B. Gangetic Shark

C. Sea Horse D. Blue whale

S, ARETT & AT B AT WA TR 7 ?
A. STaHse GRefur e B. a=ufaad / ifor Sam=
C. I 3™ D. 3IRTY

Which is not included under in-situ conservation ?
A. Biosphere reserve
B. Botanical/Zoological garden

C. National Park

D. Sanctuary
AT B, ST S U9 U BT fafdre rd ) dred! 8, 98 § —
A. ufde-st g B. uftees USRyfderyst

C. Uil TolTgH D. S3ST USITSH
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61.

62.

63.

Molecular scissor, which cut DNA at specific site is -
A. Pectinase enzyme B. Restriction endonuclease

C. Polymerease enzyme D. Ligase enzyme

fFrefeiRad § | @19 SCID & forg SfiF eRd # Hargd & w9 § ugad
Bl & ?

A. g1 faurg B. <rer fayro

C. 3Ral fayr D. u4f faro

Which of the following is used as vector in gene therapy for
SCID?

A. Retro virus B. Rota virus

C. Arbo virus D. Parvo virus

DI A AT H T ST T ?
A. FfdeceT fereen B. U® ®3ed
C. 3hd T8 D. 594 & @4

Which are vestigial organs in humans ?
A. Nictitating mimbrane B. Tail vertebrae

C. Wisdom tooth D. All of these
S wurg Freifed § 9 fegar ufaRly ovd 2|

A. Bl | 4RI B. SITY] IATSTe <l

C. 3 B wofidl D. B%& RIS Bl

23



64.

65.

66.

Bt cotton genes repel which of the following ?

A. Insect pests B. Bacterial pathogens

C. Nematode parasites D. Fungal pathogens

a1 A1 AR H ygad Taq UleiFRSl &1 Aid B © 7
A. THBIfIE FHad B. eMiwIfeTd SiTarg]
C. W%l PHad D. zawifeld Siare]

Source of Taq polymerase used in PCR is a -
A. Thermophilic fungus B. Thermophilic bacterium

C. Mesophilic fungus D. Halophilic bacterium

AR JAWAFDH gRT gfe & Iaured H fifdd § A fhdAd!

STIART fhar ordr 8 ?

A. VETIITH AT B. & @lcf
C. wzNHIgHIeT UaeRyTvy D. #z@idac¥TT

Which of the following is used in production of insulin by Genetic

Engineering ?

A. Rhizobium leguminosarum B. Escherichia coli

C. Saccharomyces pastorianus D. Mycobacterium

YFITH B IRaiddr &1 fa=R fbds gR1 ugad fbar Tar o ?
A. TTcH SR B. & ¥ NI
C. &¢ WK D. &

24



67.

68.

69.

‘Survival of Fittest thought was proposed by -

A. Charles Darwin B. Hugo de Vries

C. Herbert Spencer D. Lamarck

f=feRaa & 9 fhasr STt 8RR Wie / g SRe & w9 § fdar

ST © 7
A. =mad B. HahT
C. o$ D. ¢=r

Which of the following is used as green manure/biofertilizer ?

A. Rice B. Maize

C. Oat D. Daincha
fa=ifhd o & B9 AT U SATvadh Hled § ?

A. ddierw wedifora B. dvficrw gichifaavar
C. defierer gRTHIveT D. dvflervr aforer

Which of the following is a microbial insecticide ?
A. Bacillus subtilis B. Bacillus polymyxa

C. Bacillus thuringiensis D. Bacillus brevis
Fe=feRad # | B9 &9 W9T~7 &1 UIel Jaol o7
A. vETRefiEYT B. &/ gV

C. sivganfoefiae D. &4 [Avsvelcii~re

Which among the following is direct ancestor of Homo sapiens ?
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70.

A. Ramapithecus B. Homo erectus

C. Australopithecus D. Homo neanderthalensis

qifeadd el & UIdfie SuaR H fifhd § | @9 |1 ded wiiie
g?

A. T4 Sitarfoge wTicfafer B. freie=T derr sradre

C. Jaradrg Siarfoae wfdfafer D. 3fa¥9el T

The primary treatment of sewage water involves which of the

following step ?

A. Aerobic bacterial activity

B. Filtration and sedimentation

C. Anaerobic bacterial activity
D. Sludge digestion

Juvs—9 / Section-B

o 3N 939 / Short Answer Type Questions

U AT 1 W 20 O g SINF U © | gH ¥ bl 10 Ul P SIR T |
I e & forv 2 3fd MuiRd 2| 10x2=20

Question nos. 1 to 20 are Short Answer Type questions. Answer any 10

questions. Each question carries 2 marks. 10x2=20

BTl TAT U YTl DI ISTERUT &I TSIl I URUTT BT |2
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Define Buds and Bulbils with the help of suitable examples.
fafaRgues qor qg—fdwves oI ISTERV & A1 9dTLy | 2
Explain Binary Fission and Multiple Fission with examples.

fhaw YR & ufdses USsH BT §° SHd A oIy | 2

How many types of restriction enzymes are there ? Write their

names.
fr=ifore @1 aR|Td &Y - 2
A. TR wre B. AIShISoaR

Define the following :

A. Cloning site B. Microinjection

uTforll H FagTRe® e R fewol faRgy | 2

Write comments on practical adaptations in animal.
JEIIHROT A T A © ° fhel qI faffrn & 9™ qant | 2
What do you understand by sterilization? Name any two

methods.

=gl =R JAARI® I & A dN | 2

Name any four genetic diseases.

=it @1 aRarfa HIfv 2
A. FEgHTfdaT B. 3rquf gwfaar
C. g4rdr D. mg4rdr

Define the followings :
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10.

1.

12.

13.

14.

15.

16.

A. Co-dominance B. Incomplete Dominance
B. Dominant D. Recessive

MR B IR BHIRTY T S Feacd SiFl & 9 9argd | 2
Define the operon and name its constituent genes.

faffr91 YR & R TA T & 19 a1y | 2

Name the different types of RNAs.
ST BIeT A T I & 7 2

What do you understand by Gene pool ?

JUART AT AR fdwrT # far gay | 2
Explain the difference between divergent and convergent

evolution.

1 FheTu—~ SITfadl P SO} T Serexol Afgd uRYIRd HIfTT 2

Define the categories of three threatened species with examples.

frem—ufeRel der oar g ? Gfér faaror v | 2

What is pest resistant plant ? Give brief description.

Grel T W T G © ° [bel & UBR B Wiel @l bl M

ESIEN 2
What do you understand by Food-chain ? Name any two types of

food-chains.

frifeed YT & YAToT-Th T =19 forfRauy | 2
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A. el B. goifRam

C. TepIRaR D. =i
Write the name of the causal organism of the following diseases.
A. Amoebiasis B. Malaria
C. Ascariasis D. Pneumonia

7. Si9 IR [HF UHR F HaT Bl IRl Bl 91d & ? 2

How do biofertilizer increase soil fertility ?

18.  HIYF & A Ud UG DI 91y | 2

State the source and side-effects of Methane.

19. YBER JAT VAHAR Bl =1 b G § aRHINT I | 2
Define stamens and pistil with the help of diagram.
20. ST IO IATGH UIE BT ST+ A9 garsq | 2

Name the scientific name of two sugar producing plants.

e Sa9g 939 (Long Answer Type Questions)

9T AT 21 9 26 dPb g ST U3 2| 598 A fH<l 3 g B SR ¢ |

gddh Y3 & forv 5 3fe fuifRa & S aifdeaq 120 vl & 819 =nfavu |

3x5=15

Question nos. 21 to 26 are Long Answer Type questions. Answer any 3
questions. Each question carries 5 marks. Give your answer in about 120

words. 3x5=15
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MR Fheu-T I FIT IS 22 ol NI bl Iy J9smi | 5

What do you understand by operon concept ? Explain the Lac-

operon with the help of diagram.

[N O\

fifepd Uol & SR © — (1+ 2 + 2= 5)

A. Tored dIed Y§eE | a1 |HSI 8 7
B. Fiiura @r 8?7 sda o forfy |

C. g&A Yo | T F93Id 57 39D o oy |

Answer the following questions :-

A. What do you understand by integrated pest management ?

B. What is poultry ? Write its benefits.

C. What do you understand by micropropagation? Write its

benefits.

frfaRad # iR e o | 2%2x2=5)
A. gfdoifds dom gexmRia
B. Sig Sdvd dl IR

Differentiate the following :

A. Antibiotic and interferon.

B. Biofertilizer and Biogas.

freifa o @ b8l a1 @1 gui & — (2% x 2 =5)
A. SiF faferma
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25.

26.

B. A¥edT dAT il dT TN

C. IR 3R T T bl JHhT

D. SIS &1 ATgarsid @b

Describe any two of the following :-

A. Crossing over
B. Meselson and Stahl's experiment
C. Processing of tRNA

D. Lysogenic cycle of Bacteriophage

frifea | fl <1 @& daa I gRT qoid — (2% x 2 =5)
A. STrame] HIfRreT # fgfagus

B. AR WIS @1 HeThol awell

C. 3Tg<idISl 4Iey & dISIvs &l HRaT |

Show any two with the help of labelled diagram/sketch only.
A. Binary fission in Bacterial cell.

B. Metaphase stage of mitotic cell division.

C. Structure of ovule of an Angiospermic plant.

frifed @1 aRvTia & 1x5=5
A SHEE

B. sg—fdeeudr

C. grdd o
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D. orga fauer

E. qurierdn

Define the followings :-

A. Genome

B. Multiple allelism

C. Lethal gene

D. Chromosomal aberrations

E. Colour blindness
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